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Total Marks: 70

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Answer any seven out of ten. £l 515U Uldl sxalsL LU,

State fundamental axis of theodolite.
eflugialse «l uye siali-l gl vuul,

Differentiate between transit and non transit theodolite.
21e292 el Al 2Lz dPUSIALD2 422l dsldd AHMAL.

How curve is designated.

A5 < 2Asa 56 L 52AML 209 9.

State various parts of transit theodolite.
2le22 ALUSLALD2 <Ll 6YEL Syl UL Al Ul AU,

State benefits of tacheometric survey.

25PUHZL AA AL A1l syRuAl.

Define latitute and departure and latitute in traverse survey.
HIAIZHRL AT AL Ued] Va2 20l | el 24,
Differentiate between EDM and Total Station.

DM 2 2126 2291 422 Al d51Ad, VA,

Define tacheometry Survey.

25P0HZ] U4 <l v s,

State linear methods to set out simple circular curve.

AUlEL A5 A orHld Uz 2[Ud 529 <l Zldl otdidl,

State relation between degree and radius of curve.
A <Al Biowil d2l vialL 422 <Al 24644 i1l

Explain repetition method to measure horizontal angle with theodolite.
Aflusialse <l Hee 2l Aldsy el Hiudl HizAl Yaidds <l ld AHmal,

OR
Write short note on independent coordinate.
2> AL YR 251 iR vl

Show steps temporary adjustment of a theodolite.
15112 Al GIUH] UH AL AL 22U, oL,

OR
Explain sources of errors in theodolite traversing.
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Afldialdz 21a o HiAZlvA AL GealH 2al (1) (A2 UHmdl.

For the follwoing closed traverse calculate the latitute and departure of the
sides of traverse. Also calculate closing error of the traverse.

line length Bearing
AB 320 m N51° E
BC 280 m N36° W
CD 400 m S62° W
DA 360 m S48° E
<{L2AAL 615 HIAIRVARL HI 645y L 2ABIA, A2 22 2ldR <{L 2Bl 520 Hiew <l 44
22w sliHl.
HIEL UL otls) SEIR]
AB 320 m N51° E
BC 280 m N36° W
CD 400 m S62° W
DA 360 m S48° E
OR
Find out the length and WCB of line PQ from followinng observtions
Point Indipendent Coodrdinate
P (233.40, 396.30)
Q (399.40, 72.30)
|2l vadisl Ul PQ w41 HI2 dotls) A2l WCB Uil
2290, A AL
P (233.40, 396.30)
Q (399.40, 72.30)

Exain closing errors in close traverse with sketch.
o1 HIALURL <{l AHIUA 22| BlIg[A U AHMAL

OR
State the steps to establish straight line with the help of theodolite.
glaigialse <l Hee el 218l 2ul uzatd s2a1 HiZAL 229 Uil

Explain field method to calculate the constants of tacheometry.
25121122 <AL p1ANis] AlHAL HI2 <l (5es Hag anmal,

OR
Explain principles of tacheometer
2512114122 Al [Ed] “Hmal,
Explain stadia method and tangential method in tacheometry.
25PUHZL Hi 228l HaLs vt Zorsilad Hag AumAl

OR
Calculate the tacheometric constants from following observations on level
ground.

Staff . Dist bet. inst st
Inst St. St Staff readings and staff st.
0 A 0.502 0.755 1.005 50m
B 1.200 1.700 2.200 100 m

<

Blasy oyyld U2 Al 2l 2194@lsl v 4l 25120122 AL 20150 AL

Hel.22. v, 221,

Oz, 22, | 221522, 2215 vAdisll S
g 22,423, < 2R
0 A 0.502 0.755 1.005 50m
B 1.200 1.700 2.200 100 m
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With a tacheometer having multiplying constant 100 and additive constant O
following observations were taken with staff vertical. If RL of P is 100m, find
RL of Aand B

Staff Vertical .
Instr;tment Station Angle Staff Reading Remarks
A +7°30" | 0.50,1.80,3.10 i
P , H.1.is 1.50 m
B -- 7°30° | 0.95,1.70,2.45

25 25l2AiHl22 6 Al AABISL 100 2t 0 69, 22654 2Av] {18 Hoyor wqelsl AAHi 241l oxl P <l
ALUA GAULS 100 G dLA vt Bl uiua U1 giAl,

GusRL 24, | 242Ul B4 sl0l £¢ Aluis Auis

A +7°30 | 0.50,1.80,3.10 _
p H. I.is 1.50 m

B -- 7°30" |0.95,1.70,2.45

OR
Derive equation for Horizontal Distance and Vertical component when line of
sight is inclined upward and staff held vertically in tacheometry.
25PIHZL Hi 1R glevil il €1 24 Geead VBl ol Adl 1 24 £8 GEAlHIR Usgl €iA
AR 2idR 2 GALS <Al dglad QAALHIZ | »oA dIRAlL
In trigonometrical levelling, derive formula when base of the object is
inaccessible and instrument stations, object is in same verticle plane and
instrument axis are at different level.
Bistoldla dag 1 el (Al waiadl uei 2iuaaoe G, (AE w2l 214 e Gus20l
AL 50y GEAIHIR dGHL 1A oleed GUSRBL 2AE] AUIUE GULS HAI A0l S AR AR
BlAL <AL d5lad < A dlzdl,

OR
In trignometrical levelling following readings were taken. If station A is near
to the Bench Mark. Distance A B is 45. and RL of Bench Mark is 60.0m.
Find RL of tower.

Staff station BS Aangle of elevation of tower.
A 1.20 12°
B 2.70 10°

Bustosldl adao | <l yoyotel LI @ami 2096 9. 22.A 612 Wi 4l 22, B 52dL 25
9. AB 42244 2{d2 45 4l 9 214 BM 4 RL 60 4159 dl 2192 | 2414 Gl Al

2215 22U ols HIH2 219 d23 6¥ldl Geeldslil
A 1.20 12°
B 2.70 10°

State formulae to calculate Tangent Length, Mid ordinate, External Dist. Long
chord for simple circular curve.
AUELOLAUS1RAS HIZ 2ULLs 2idR, oll&l 2id, ElAmal <l dolls) dal 212601 QWAL HIZ <AL YLl
g,

OR
List and Show elements of simple circular curve with sketch.
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ALEL OLALS1RAS <AL AL Bs[ds 2aldl vt d<dl 41l il

For a two road intersecting at 60° calculate the tangent distance, external
distance, long chord and mid ordinate for a curve having radius 310 m.
60° v £92dl 6L 22l H1Z, 310 Hl22 | Biswal Alow as HIZ 2udls idz, ollel 2idz, £lawal
il dous) dal wzeL | ezl 52,

OR

Which points should be kept in mind while doing total station survey.
2126 2290 U9 Hi 2L HI U ALAL HEIAL sy RUAL

In closed traverse with the help of following reading calculate the
cosecutive coordinates and find total errors in latitute and deprture.

Station Reduced bearing Line Length (m)
P S 72°50°10° E PQ 110.80

Q N 34°54 50" E QR 100.80

R N 45°55 20" W RS 99.80

S S 63°30 100 W ST 95.80

T S 01°10°10 E TP 101.80
Ol HIARMBL Hi {12 AL A9dis uel 5[Ms5 A1M1 2IHL 58 280 2idR ] 32l 2 58 2eig
2idz <l 32| s,

2215 22, g1 oiLloy RSl ot

P S 72°50°10" E PQ 110.80

Q N 34°54 507 E QR 100.80

R N 45°55 20" W RS 99.80

S S 63°30 100 W ST 95.80

T S 01°10°10 E TP 101.80

Explain how theodolite is used to extend the straight survey line.
glaigialse <l vee dl AlHl Ad Al < 200 50 2d dotidl A51A d AHMAl.

Write advantages of Total Station.

212@ 2290 ALURAL UL 5AEL QUL

Right short note on ATR with respect to Total station.

2126 2290, 4L U@L BiZl2AIR Uz 25l <M Qv

Explain offset from long chord method to set out simple circular curve.
AIELALOUSIR A5 < oxHlA Uz 221[Ud 534 HI2 <] £l uzgl 2o <l <ld 4xmal,

4/4

03
04

oY

04
oY
07

09

04
oY

04
oY
03
03
03
o3



